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) U | o . u, U, Ugy Upy I, lo | lgy | Ugn | Par | Po | P | P,
vV | A v v v v mA | mAlmA VI WI|w!wi w
C-Tgr 2000 | 400 45 | —100 170 60 | 10 1,6 | 250
1500 | 400 45 | —100 135 54 10 1,6 | 150 | (A-Mod)
08 1252000 | Tu Wy =)0 B=TH 2000 | 400 45 | — 55 80 18| 2 05| 60 | (G,-Mod)
stat 2000 S =45mAIV; pigaen = 10,5; f = 50 MHz 35 | 125
C-Ter 2000 | 400 45 | 100 150 551 13 210
5 Cj101 A STCE 10| 5|1 cTif 2000 | 400 —45 | 100 85 65 | 13 60 | (G,-Mod)
stat 2000 150 | S=54 mAJV;f= 20 MHz 100
1250 | 500 40 | — 90 160 45 12| 175 2 | 130
ot 1500 | 500 40 | —9% | 160 45 12] 175 2 | 160
“Ter 2000 | 500 40 | — 90 160 450 12 175 2 | 210
2000 600 500 —500 175 50 maximum 30 125
1250 | 150 150 | — 90 | 160 15| 28| 190 | 46 | 130
C-Ter 1500 | 150 150 | — 90 | 160 150 271 190 | 44| 160
Fig. 1 2000 | 150 150 | — 90 160 15| 26 190 | 44| 210
2000 | 600 600 | 500 175 5 | mEim 30 | 125
e 1250 | 350 100 | — 80 150 50| 30| 200 6 | 120
e 1600 | 400 100 | — 80 150 45| 25! 190 | 5 | 155
e 1600 | 500 500 | 500 160 By | pumdimem 20 | &5
5725 A1 | Maz 10| 5| cTif 1250 | 130 130 | 180 150 75 | 45| 305 |15 | 125
A-Mod 1600 | 130 130 | 180 150 751 45| 32015 | 155
332 A WE 10| 5! Fig. 1 1600 | 500 500 | - 500 160 58| maximum 30 | 85
1250 | 500 40 | —100 130 30| 8| 160 | 4 52
803 i 10 51| cTif 1500 | 550 40 | — 90 110 % 6 130 3 53
G,-Mod 2000 | 600 40 | — 80 80 20| 4] 100 | 2 53
2000 | 600 500 | —500 8B ] 20 | 125
i 1250 | (13kQ)| — 70 | —110 100 70| 20 200! 4 | 40
e 1500 | (17 kQ), — 90 | —100 100 701 20| 190 | 35| 50
33-Mo 2000 | (35 kQ)| —110 | 100 80 48 | 15| 170 | 2,5 | 53
Fig. 2 2000 | 600 500 110 50| maximum 30 | 125
1250 | 500 40 | 30 130 33/ 8| 90| 45| 52
B Tie 1500 | 550 40 | .35 110 0| 5| 70| 3 53
- 2000 | 600 40 | 40 80 20| 3] 55| 15| 53
2000 600 500 160 maximum 20 125
stat 62,5 S=4mAIV; t1gg)=14; f=20 MHz
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pF pF pF
RK 28 15 15 { 0,02
RK 28 A 15 15 0,02
803 17 29 0,15
4069 A 18 13 0,1
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Equivalents

PC 2/500 PhI = 803 322 A WE = 803
RK 28 Ray = 5 CJ101 3069 A LMT = 5 CJ101 A
RK 28 A Ray = 803 3069 B LMT = 5 Cj101 A
5T 250 AO Maz = 803 4069 A STCE = 5 C[101 A
A
3 61 Fig.1 Fig.2
R
B 6463
GZ Fcenfr o
".’f/
F E
332A
300
/% 803
'mA
250 \ ng=300V g, - 05 —od
Iecn; Ugg= 40V
\ [1]
N, Upp=300V 200
N NN S\
N N TN
N ~Yr=1200 3\ Ny
\ R | .| 803
h | \ =~/ 2
P f \«\ 50V
] o 50\ - Yl
— 20V \-._ 200 J
200 400 600 Uy (V) 0 200 400UV] 640

144

14

6vv



